



نام و نام خانوادگی: مسکنی معالی پاسخنامه تشریحی تکلیف شماره ۲۳ کلاس

$$n^a = m \quad (mn)^b = m^b n^b \rightarrow (n^a)^b = n^{ab} \rightarrow \frac{b(a+1)}{n^{a+1}} = \frac{b(a+1)}{n^{a+1}}$$

$$p_{a+1} = \frac{b(a+1)}{a+1} \rightarrow b = \frac{p(a+1)}{a+1} \rightarrow \frac{p(a+1)-1}{a+1} = p - \frac{1}{a+1} \rightarrow a > 0 \rightarrow a+1 > 1$$

$$p - \frac{1}{a+1} < 1 \rightarrow 1 < b < 2 \rightarrow [b] = 1$$

$$2 \log_9 a + \log_9 a = 2 \rightarrow 2 \log_9 a + \log_9 a = 2 \rightarrow \frac{1}{\log_9 a} + \log_9 a = 2$$

$$\log_9 a = t \rightarrow \frac{1}{t} + t = 2 \rightarrow t = 1$$

$$\log_9 a = 1 \rightarrow a = 9$$

$$\text{الف) } \frac{x}{\log_{\frac{1}{x}} x} > 0 \quad \log_{\frac{1}{x}} x \neq 0 \rightarrow \log_{\frac{1}{x}} x = 0 \Rightarrow x \neq 1$$

$$0 < x < 1 \quad \log_{\frac{1}{x}} x > 0 \quad \frac{+}{+} = + \quad \checkmark$$

$$x > 1 \quad \log_{\frac{1}{x}} x < 0 \quad \frac{+}{-} = - \quad \times$$

$$\Rightarrow 0 < x < 1$$

$$\begin{aligned} & x^2 - x - 2 > 0 \\ & (x-2)(x+1) > 0 \\ & \begin{array}{l} x > 2 \\ x < -1 \end{array} \\ & \text{ب) } x^2 - x - 2 > 0 \\ & (x-2)(x+1) > 0 \\ & \begin{array}{l} x > 2 \\ x < -1 \end{array} \\ & \text{ج) } x^2 - 1 \geq 0 \\ & x^2 \geq 1 \Rightarrow |x| \geq 1 \\ & x \geq 1 \text{ و } x \leq -1 \\ & \text{د) } x^2 - 1 \geq 0 \\ & x^2 \geq 1 \Rightarrow |x| \geq 1 \\ & x \geq 1 \text{ و } x \leq -1 \\ & \text{ه) } x^2 - 1 \geq 0 \\ & x^2 \geq 1 \Rightarrow |x| \geq 1 \\ & x \geq 1 \text{ و } x \leq -1 \end{aligned}$$

$$\log 5 = \log_{\frac{1}{2}} 2 = \log 2 - \log 2 = 1 - \log 2 = 0.3$$

$$\log_{\frac{1}{2}} 5 = \log 5 - \log 2 = 0.3 - 0.3 = 0$$

$$\log 9 = \log 3^2 = 2 \log 3 = 0.6$$

$$\log 15 = \log 3 \times 5 = \log 3 + \log 5 = 0.5 + 0.3 = 0.8$$

$$\hookrightarrow 0.3x^2 + 0.6x - 0.8 = 0 \quad \Delta = (0.6)^2 - 4(0.3)(-0.8) = 1.96$$

$$\log_{\frac{1}{2}} 15 \rightarrow \log_{\frac{1}{2}} 3^2 \times 5 = \log_{\frac{1}{2}} 3^2 + \log_{\frac{1}{2}} 5 = 2 \log_{\frac{1}{2}} 3 + \log_{\frac{1}{2}} 5 = 2(0.5) + 0.3 = 1.3$$

$$\log_{\frac{1}{2}} 15 \rightarrow \log_{\frac{1}{2}} 3^2 + \log_{\frac{1}{2}} 5 = 2 \log_{\frac{1}{2}} 3 + \log_{\frac{1}{2}} 5 = 2(0.5) + 0.3 = 1.3$$

$$\log_{\frac{1}{2}} 15 = \frac{\log_{\frac{1}{2}} 15}{\log_{\frac{1}{2}} 15} = \frac{1.3}{1.3} = 1$$

$\log_{10}^{\omega} = 1/\omega \quad \frac{1}{\log_{10}^{\omega}} = 1/\gamma \quad \log_{10}^{\gamma} = \log_{10}^{\gamma} + \log_{10}^{\omega} = \frac{\varepsilon + \omega}{100} = \frac{\gamma\omega}{100}$ $\log_{10}^{\omega} = 1/\omega \quad \log_{10}^{\omega} = 1/\varepsilon \quad \log_{10}^{\gamma} = 1/\varepsilon$ $\log_{10}^{\omega} = 1/\omega \quad \log_{10}^{\gamma} + \log_{10}^{\omega} \rightarrow \log_{10}^{\gamma\omega} \quad \log_{10}^{\omega} + \log_{10}^{\gamma} = \log_{10}^{\gamma\omega}$ $1/\omega + 1/\varepsilon = \varepsilon = \log_{10}^{\gamma\omega}$ $\log_{10}^{\gamma\omega} = \frac{\gamma}{1/\omega} = \gamma\omega$	
$\log_{10}^{\gamma\omega} \rightarrow \log_{10}^{\gamma} + \log_{10}^{\omega} \rightarrow \frac{1}{\omega} \log_{10}^{\gamma} + \frac{1}{\gamma} \log_{10}^{\omega} \rightarrow \frac{1}{\omega} + \frac{1}{\gamma} \log_{10}^{\gamma} = m$ $\frac{1}{\omega} \log_{10}^{\gamma} = m - \frac{1}{\gamma} \quad \log_{10}^{\gamma} = (m - \frac{1}{\gamma}) \times \frac{\gamma}{\gamma} \quad \log_{10}^{\gamma} = (m - \frac{1}{\gamma}) \frac{\gamma}{\gamma} \rightarrow \frac{\gamma}{\gamma} m - \frac{1}{\gamma}$ $\Rightarrow \frac{1}{\gamma} (m - \frac{1}{\gamma}) + 1 = \frac{m}{\gamma} - \frac{1}{\gamma^2} + \frac{\varepsilon}{\gamma} = \frac{m}{\gamma} + \frac{\varepsilon}{\gamma} \rightarrow \frac{m}{\gamma} (m+1)$ $\log_{10}^{\gamma} = \frac{m}{\gamma} (\log_{10}^{\gamma} + 1) = \log_{10}^{\gamma} \rightarrow \frac{m}{\gamma} (m+1)$	Y
$\left(\frac{\gamma}{\omega}\right)^{\gamma-1} \rightarrow \left(\frac{\gamma}{\varepsilon}\right)^{1-\gamma} = \left(\frac{\gamma}{\lambda}\right)^{\gamma} \rightarrow \left(\frac{\gamma}{\varepsilon}\right)^{1-\gamma} = \left(\frac{\gamma}{\varepsilon}\right)^{\gamma} \rightarrow 1-\gamma = \gamma$ $\gamma^{\gamma} + \gamma^{\gamma} - 1 = 0 \rightarrow \gamma^{\gamma} + \gamma^{\gamma} - 1 = 0 \rightarrow (\gamma-1)(\gamma+1) = 0 \rightarrow \gamma = 1$ $\log_{10}^{\gamma} \rightarrow \log_{10}^{\gamma} \rightarrow \frac{1}{\gamma} \log_{10}^{\gamma} \Rightarrow \log_{10}^{\gamma} = 1 = \frac{1}{\gamma}$	A
$\gamma^a = \gamma \quad \gamma^{\gamma} + \gamma^a = b \Rightarrow \gamma^{\gamma} = b \rightarrow \gamma^{\gamma} \times \left(\frac{\gamma}{\gamma}\right) = b \quad b = \varepsilon \times a = \gamma \gamma$ $\log_{10}^{\gamma} (\gamma \gamma - 1) = \log_{10}^{\gamma} (100) = \gamma$	9
$\frac{b+c}{\gamma} = a \rightarrow \frac{1}{\alpha+\beta} = \log \varepsilon \rightarrow \frac{1}{\gamma} = \log \frac{\gamma^2}{a} \Rightarrow \frac{b}{\varepsilon a} = \log \varepsilon$ $\varepsilon a = b + c \quad \varepsilon (b+c) = \frac{b+c}{\varepsilon} \times \varepsilon = \varepsilon a \quad \log \varepsilon = \frac{b}{(b+c)\gamma}$ $\log_{10}^{\gamma} = \gamma \log_{10}^{\gamma} \Rightarrow \gamma^{\gamma} \times \gamma = \gamma^{\gamma} \Rightarrow \gamma^{\gamma} = \frac{b}{(b+c)\gamma}$	10